MOD 1200 -Arc

g 3
(
// p
e L
16
20
50
304  Satin @ S Accessories
ArtNo Fitting pipe ® Glass Thickness Screw | Packing unit
1200.033.304.S ®33.7 Depends on the rubberinlay |M8*20|  4pcs =
T =
1200.042.304.S p424 Depends on the rubberinlay |M8*20|  4pcs — R R
4 @
316 Satin @@ S5
ArtNo Fitting pipe ® Glass Thickness Screw | Packing unit
1200.033.316.S ©337 Depends on the rebberinlay [M8*20|  4pcs MOD |Diameter|Height | Packing unit
1200.042.316.S @44 Depends on the rubberinlay [M8*20|  4pcs PGM-13| 13mm [4.5mm| 8pcs
>
4 O Y0 @ @
3
=X
<
=
1
-
c
2.
o
=}




